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Case study based questions
10th English
A Tigerinthe Zoo
Passage - 1 5> Marks

Read the following extract carefully and answer the questions that follow.
He hears the last voice at night,

The patrolling cars,

And stares with his brilliant eyes

At the brilliant stars.

Q1. What does he hear at night in the zoo?

(1) He hears the sounds of the cars of guard, making rounds to check if
everything isright.

(2) He hears the sounds of the cycle of guard, making rounds to check if
everything isright.

(3) He hears the sounds of the vehicles of guard, making rounds to check
If everything is right.

(4) He hears the sounds of the small cars of guard, making rounds to check
If everything isright.

Q 2. What do you think he might be hearing when he was in the forest?

1) He must be hearing the sound of other insects.

2) He must be hearing the sound of other birds.

3) He must be hearing the sound of other small insects.
4) He must be hearing the sound of other animals.
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Q 3. How do the eyes of a tiger look at night?

(1) At night, the eyes of a tiger look dull and shiny.
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(2) At night, the eyes of a tiger look bright and shiny.
(3) At night, the eyes of a tiger look beautiful and shiny.
(4) At night, the eyes of a tiger look bright and dull.

Q 4. Why do they look so?

(1) They look so because of the characteristic of lion family so which they

belong.
(2) They look so because of the characteristic of dog family so which they

belong.
(3) They look so because of the characteristic of cat family so which they

belong.
(4) They look so because of the characteristic of rabbit family so which

they belong.

Q5. Why does the tiger stare at the stars?

(1) The tiger stares at the stars because he aspires to be free as he is not

happy in the zoo.
(2) The tiger stares at the stars because he aspires to be free as he is

angry in the zoo.
(3) The tiger stares at the stars because he aspires to be free as he is

amused in the zoo.
(4) The tiger stares at the stars because he aspires to be free as he is not

surprised in the zoo.

Passage - 2 S Marks

Read the following extract carefully and answer the questions that follow.
He hears the last voice at night,

The patrolling cars,

And stares with his brilliant eyes

And the brilliant eyes.
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Q1. Whois 'he here?

1) He'is the tiger.
2) He'is the cat.
3) He' is the dog.
4) He' is the lion.
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Q 2. What is he staring at?

1) He is staring at the moon.
2) He is staring at the stars.
3) He is staring at the clouds.
4) He is staring at the sky.
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Q 3. Whatis the last voice mentioned here?

1
2
3
4

v

The last voice heard by the tiger is that of vehicles patrolling.
The last voice heard by the lion is that of cars patrolling.

The last voice heard by the tiger is that of cars patrolling.
The last voice heard by the tiger is that of cycles patrolling.

N IIN NN

Q 4. Name the poem and the poet.

2) The name of the poem is Fire and Ice and the poet is Leslie Norris.
3) The name of the poem is Dust of Snow and the poet is Leslie Norris.
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Q 5. How do the eyes of a tiger look at night?

(1) At night, the eyes of a tiger look dull and shiny.
(2) At night, the eyes of a tiger look bright and shiny.

1) The name of the poem is A tiger in the zoo and the poet is Ruskin Bond.

4) The name of the poem s A tiger in the zoo and the poet is Leslie Norris.
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(3) At night, the eyes of a tiger look beautiful and shiny.
(4) At night, the eyes of a tiger look bright and dull.
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Read the following extract carefully and answer the questions that follow.
He should be lurking in shadow,

Sliding through long grass

Near the water hole

Where plump deer pass.

Q 1. What should he be doing in shadow?

(1) He should be lurking in the shadow to attack the lion who comes to drink
water at the water hole.

(2) He should be lurking in the shadow to attack the rabbit who comes to
drink water at the water hole.

(3) He should be lurking in the shadow to attack the pigeon who comes to
drink water at the water hole.

(4) He should be lurking in the shadow to attack the deer who comes to
drink water at the water hole.

Q 2. Where should he be sliding?

1) He should be sliding through tall grass

2) He should be sliding through long grass.
3) He should be sliding through green grass.
4) He should be sliding through small grass.
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Q 3. Who is near the water hole?

(1) A fat lion is near the water hole.
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(2) A fat catis near the water hole.
(3) A fat deer is near the water hole.
(4) A fat tiger is near the water hole.

Q 4. Why should he lurk in the grass?

(1) He should be lurking in the shadow to attack the lion who comes to drink
water at the water hole.

(2) He should be lurking in the shadow to attack the rabbit who comes to
drink water at the water hole.

(3) He should be lurking in the shadow to attack the pigeon who comes to
drink water at the water hole.

(4) He should be lurking in the shadow to attack the deer who comes to
drink water at the water hole.

Q 5. Complete the following sentence.
The tiger is moving through .......

1
2
3
4

S

tall grass so that he moves through without being seen.
long grass so that he walks through without being seen.
long grass so that he moves through without being seen.
green grass so that he moves through without being seen.
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Passage - 2 5 Marks

Read the following extract carefully and answer the questions that follow.
He stalks in his vivid stripes

The few steps of his cage

On pads of velvet quiet,

In his quiet rage.

Q1. What are the two qualities of the animal under reference?
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(1) The two qualities of the animal are: he has stripes and blue pads.
(2) The two qualities of the animal are: he has yellow stripes and velvet
pads.

(3) The two qualities of the animal are: he has stripes and black pads.
(4) The two qualities of the animal are: he has stripes and velvet pads.

Q 2. Why does 'he’ move only a few steps?

(1) He moves only a few steps because he has been put in a cage in a zoo
where he has limited space to move.

(2) He moves only a few steps because he has been put in a cottage in a
Z00o where he has limited space to move.

(3) He moves only a few steps because he has been put in a house in a zoo
where he has limited space to move.

(4) He moves only a few steps because he has been put in a big cage in a
z00o where he has limited space to move.

Q3. Whois ' 'he'?

1) He is the cat.
2) He is the tiger.
3) He is the dog.
4) He is the lion.

N AN NN

Q4. Where is he?

1
2
3
4

S

He is in a small cage.
He is in a small cottage.
He is In a big cage.

He Is In a big cottage.
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Q5. Inwhichmood is he?
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1

2
3
4
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He is angry.

He Is sad.

He Is happy.

He Is surprised.
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